2 RARE=SIVTBRERR

Ei L] #5832 (Ba/kg)
No | e TH | o e | e RE% . B gz | ZBE | BR | coim | corr | cemst
1 %:%ﬁ % KEFHWTH — JERIB G FRINGHR — BEEREERE VS Ge H25.4.2 H25.4.3 <40 <38 <17
2 %fﬁ;,y AR — B *aY ik EERBRERE S Ge H25.4.1 H25.4.3 <48 <33 <80
3 %:%ﬁ % EgAHM — JERIB G FRINGHR k4 EEREERE VS Ge H25.4.2 H25.4.3 <41 <36 <76
4 %f‘ffp,j E%Am — B =3 54 EERRERE I Ge H25.4.2 H25.4.3 <43 <317 <7
5 %:%;f I SR ET — JERIB G *aY £4 BEEREERE VS Ge H25.4.1 H25.4.3 <39 <33 <71
6 %fﬁ))ﬁ SRARHET — FERER *aY ik EERBRERE I Ge H25.4.1 H25.4.3 <53 <31 <9
7 %:%;f i, SiERTE — FERESR avvF i3 BERRRBEEVS— Ge H254.2 | H2543 <57 <48 <1
8 %fﬁ,w KERTET — B RoL2IY ik EERBRERE S Ge H25.4.2 H25.4.3 <50 <42 <92
9 %:%;f IS, B =) — FERESR avvF i3 BERRREEEVS— Ge H254.1 | H2543 <55 <39 <94
10 %fﬁ,w REXER — B RoL2IY ik EERBRERE S Ge H25.4.1 H25.4.3 <44 <32 <15
1 %:%;f % E3= =00 — FERBER =3 i3 BERERRE V- Ge H254.1 | H2543 <58 <53 <10
12 %fﬁ;yj REXER — B BIHE i EERBRERE S Ge H25.4.1 H25.4.3 <54 <45 <938
13 %fﬁbd BT — ERBER *H — BERERRRE V- Ge H2543 | H2543 <82 <70 <15
14 %f‘gﬁp,j A — FERER 45N — EERRERE I Ge H25.4.3 H25.4.3 <178 <71 <15
15 %fﬁbd BT — MBS *H — BERERRE V- Ge H2543 | H2543 <6.1 <6.2 <12
16 %f‘gﬁp,j A — FERER 4+RN — EERRERE S Ge H25.4.3 H25.4.3 <71 <72 <14
17 %fﬁbd BT — ERBER *H — BERERRRE V- Ge H2543 | H2543 <9.0 <79 <17
18 %fﬁ)p/j A — AR 45N — EERBRERE I Ge H25.4.3 H25.4.3 <9.1 <9.1 <18
19 %fﬁbd Rl — FERBER *H — BERERRE V- Ge H2543 | H2543 <71 <59 <13
20 %fﬁ)p/j A — AR 4+RN — EERBRERE I Ge H25.4.3 H25.4.3 <93 <78 <17
21 %fﬁbd il — B 47 — EEREERE VS Ge H25.4.3 H25.4.3 <9.1 <6.8 <16
22 %fﬁ)p/j A — AR RN — EERBRERE I Ge H25.4.3 H25.4.3 <82 <6.7 <15
23 %:%;? 7 il — B 47 — EEREERE VS Ge H25.4.3 H25.4.3 <92 <72 <16
24 %fﬁ)p/j A — B 45N — EERRERE I Ge H25.4.3 H25.4.3 <71 <6.9 <14
25 %:%ﬁ 7, REH — ERBER *H — BERRRRE V- Ge H2543 | H2543 <9.0 <80 <17
26 %fﬁ))ﬁ‘ KT — FERER 4N — EERBRERE I Ge H25.4.3 H25.4.3 <80 <6.9 <15
27 %f”ﬁb,j RERET — ERBEmR *H — BERRRRE TV Ge H2543 | H2543 <76 <6.1 <14
28 %fﬁ))ﬁ‘ KT — FERER 4N — EERBRERE I Ge H25.4.3 H25.4.3 <86 <78 <16
2 |REE R WRET — ElitE 47 — EEREERE VS Ge H25.4.3 H25.4.3 <80 <14 <15
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#52 (Ba/kg)

Cs-134 Cs—137 Cs&it
<96 <711 <17
<17 <11 <15
<73 <87 <16
<1712 <76 <15
<85 <85 <17
<94 <74 <17
<70 <6.4 <13
<8.1 <96 <18




